1. What Is SQL?

SQL, SEQUEL (Structured English Query Language), is a language used to access data within oracle database.  SQL was developed by IBM in 1970s for use in System R.SQL is often pronounced SEQUEL. 

2.What Are the Differences between CHAR and VARCHAR2?

The main differences between CHAR and VARCHAR2 are:

CHAR stores values in fixed lengths. Values are padded with space characters to match the specified length. 

VARCHAR2 stores values in variable lengths. Values are not padded with any characters. 

3.What Is NULL?

NULL is a special value representing "non existent value”.  A NULL value is not equal to either 0 or blank. NULL can be used  in operations like other values.  The special operator Is used with keyword NULL to locate NULL values. It can’t be compared using relational and logical operators.

4.How To Use LIKE operator?

LIKE is used for  pattern match. It is only used with char, nchar, varchar2, nvarchar2 . 

'_' is used in the pattern to match any one character. 

'%' is used in the pattern to match  zero or more characters. 

5.What Are DDL Statements?

DDL (Data Definition Language) includes commands to manipulate the structure of objects such as views, tables, indexes etc. Examples of  these commands area 

CREATE      - to create objects in the database 

ALTER        - alters the structure of the database 

DROP         - delete objects from the database 

TRUNCATE  - remove all records from a table, including all spaces allocated for the records are removed 

COMMENT   - add comments to the data dictionary 

GRANT       - gives user's access privileges to database 

REVOKE     - withdraw access privileges given with the GRANT command 

6.What Are DML Statements?

DML (Data Manipulation Language) statements are statements to change data stored  in database tables. 

SELECT - retrieve data from the a database 

INSERT - insert data into a table 

UPDATE - updates existing data within a table 

DELETE - deletes all records from a table, the space for the records remain 

CALL - call a PL/SQL or Java subprogram 

EXPLAIN PLAN - explain access path to data 

LOCK TABLE - control concurrency 

7.What are DCL commands?

DCL (Data Control Language) Which includes commands for controlling data and access to databases. Examples to these commands are Commit, Rollback  

COMMIT - save work done 

SAVEPOINT - identify a point in a transaction to which you can later roll back 

ROLLBACK - restore database to original since the last COMMIT 

SET TRANSACTION - Change transaction options like what rollback segment to use 

8. What are Special Operators in Oracle?

In , Between, Like

9.What Are Group Functions?

Group functions operates on a set of rows to give one result of a group. All group functions except Count(*) ignores null values. Where as count(column name) ignores null values. Examples of group functions are:

COUNT(*) - Returns the number of rows in the group. 

MIN(exp) - Returns the minimum value of the expression evaluated on each row of the group. 

MAX(exp) - Returns the maximum value of the expression evaluated on each row of the group. 

AVG(exp) - Returns the average value of the expression evaluated on each row of the group. 

10. What is the order of execution in sql Statement?

Where clause -> group by clause -> having clause->. Order by clause-> Select 

Order by  must be the last clause in the select statement. 

Null values come at the end of the table in case of order by clause.

11.  What are the available data types in SQL?

Scalar :-

Char, Nchar(NLS data type) enables the storage of fixed width. Limit 2000 bytes.

Varchar2 and Nvarchar2 – Variable length data types.Limit 4000  Bytes

Numeric – Digits –38 (one byte for exponent, one byte for two significant digits in mantissa) 

Raw:- Storage of small binary data. It is used to store graphics, sound etc.

Large objects 

clob, long for large fixed width character data

nclob for fixed width national characters

blob and long raw for storing unstructured data

long raw takes values in hexa notation

Collections:- Collections  are objects that contain objects. Two types are VARRAYS and Nested tables.

VARRAYS :- Useful for storing lists that contain a smaller number of elements. An array is a order set of data elements. Each element has an index which is a number corresponding the element in the array. 

NETED TABLES :- Nested tables provide a means of defining a table as a column within a table.  A nested table is an unordered set of records or rows. The rows in a nested table have the same structure. Rows in a nested table stored separate from the parent table with a pointer from the corresponding row in the parent table. 

Note :- A table cannot contain more than one long column
Long columns can not be indexed.
A procedure or stored function can not accept a long argument.
A function can not return a long value.

12 .How To Join Two Tables in a Single Query?
Joins are used to combine columns from two different tables. Two tables can be joined together in a query in 4 ways:
1)Self Join : - Joining a table to itself is known as self join. 

2)Equi join (or)Inner Join We combine columns from two tables using = operator.

3)Non-equi Join :- Other than = operator  if the join is formed using any of the relational operators then it is called as non equi join.

4)Outer Join :- Outer join extends the result of equi join. Outer join retrieves the rows returned by equi join as well as rows do not match any row from other tables. The symbol (+) represents outer join. (+) is applied to a table in which records are missing for a value in the other table.

A codition involving outer join can not use IN or OR   operator

4.1) Left-Outer Join

  4.2) Right-Outer Join

  4.3) Full-Outer Join

· Inner Join: Returns only rows from both tables that satisfy the join condition. 

· Left Outer Join: Returns rows from both tables that satisfy the join condition, and the rest of rows from the first (left) table. 

· Right Outer Join: Returns rows from both tables that satisfy the join condition, and the rest of rows from the second (right) table. 

· Full Outer Join: Returns rows from both tables that satisfy the join condition, the rest of rows from the first (left) table, and the rest of rows from the second (right) table. 

NOTE:- A condition involving outer join cannot use IN or OR operator. If the data is retrieved from N tables then there must be N-1 Join conditions.

 13. What is a Cartesian Product?

 Cartesian product is obtained when a join condition is omitted. It is a combination of all the rows from different tables.

14.What are set operators?

Set operators are used to combine information of similar type from one or more tables and the columns must match in queries while using set operators.

UNION :- It returns rows of first Query + rows of second query minus duplicate rows

UNION ALL :- Rows of all queries will be returned including duplicate rows

Intersect :- Returns common rows of all queries.

Minus :- Rows unique for the first query will be retrieved

Note :-  

1. Order by can only be used once in a query that employees set operators. If used order by clause must be placed at the end of the query. The columns in the order by clause must be referred to by their relative position in the select statement.

2. Select must select same number of columns.

3. Corresponding columns must be of same data type

4. Set operators can be used in sub queries

5. Column names from the first query appear in the result.

6. Select statements are executed from top to bottom

15.What Is a Subquery?

A subquery is a query within another query. A subquery returns only one row is termed as single row sub query and a subquery that returns more than one row is termed as  a multi row sub query.  Order by clause is not allowed in subqueries. The parent query always returns the output depending on the results of the inner query. Single row operators are <,>,<=,>=,!= . Multi row operators are IN,ANY, ALL,Exists . Usually, subqueries are used in the following boolean operations: 

"expression IN (subquery)" 

"expression NOT IN (subquery)" 

"EXISTS (subquery)" 

"NOT EXISTS (subquery)”

16. Naming Conventions of  a table
   Can be from 1-30 Characters long
    Can have maximum of 1000 columns
    Must begin with a letter. May contain $ and # but not blank spaces and signle quotes
    Can not be a sql reserved word
    Must not duplicate the name of another table.

17. What is a constraint ?
    A constraint is a rule that restricts the invalid entries and inconsistencies in database tables. 
The five types of integrity constraint
A NOT NULL constraint prohibits entry of  null values In a column .
A unique constraint prohibits multiple rows from having the same value in the same column or combination of columns but allows some values to be null.

A primary key constraint combines a NOT NULL constraint and a unique constraint in a single declaration. That is, it prohibits multiple rows from having the same value in the same column or combination of columns and prohibits values from being null.

A foreign key constraint requires values in one table to match values in another table.
A check constraint requires a value in the database to comply with a specified condition.

You can define constraints syntactically in two ways:

As part of the definition of an individual column or attribute . This is called inline specification or column level specification.

As part of the table definition. This is called out-of-line specification or table level specification.

NOT NULL constraints must be declared inline. All other constraints can be declared either inline or out of line.

18. What is the use of  NVL function?
NVL : Null value function converts a null value to a non-null value for the purpose of evaluating an expression. 

19. What is a  Correlated Subquery?

Correlated Subquery is a subquery that is evaluated once for each row processed by the parent statement. Parent statement can be Select, Update or Delete. Use CRSQ to answer multipart questions whose answer depends on the value in each row processed by parent statement.
20. What is a Sequences ?
Sequences are used for generating sequence numbers without any overhead of locking. Drawback is that after generating a sequence number if the transaction is rolled back, then that sequence number is lost. 

Syntax:- Create sequence <seq_name>
[increment by <n>]
[start with <m>]
[maxvalue N | No maxvalue]
[Minvalue N | No Minvalue]
[Cycle /Nocycle]
[Cache / No cache]

21. What is a Synonym?
Synonyms is the alias name for table, views, sequences & procedures and are created for reasons of Security and Convenience.

Syntax:
   CREATE [OR REPLACE] [PUBLIC] SYNONYM [schema.]synonym 

      FOR [schema.]object [@dblink]

Unlike Views, Synonyms do not need to be recompiled when the underlying table is redefined. Two levels are Public - created by DBA & accessible to all the users. Private - Accessible to creator only. Advantages are referencing without specifying the owner and Flexibility to customize a more meaningful naming convention. 

22. What is an Index?

Indexes are optional structures associated with tables used to speed query execution and/or guarantee uniqueness. Create an index if there are frequent retrieval of less than 10-15% of the rows in a large table  and columns are referenced frequently in the WHERE clause. Oracle automatically update indexes. Concatenated index max. is 16 columns. Index all columns if unique values are required.  Unique indexes are created automatically as a result of a primary key or unique key constraint on a table. The indexed column must be referenced in a where clause.

Index will not be used if the column reference in the where clause is part  of the function or expression. 

Ex:- upper_name  =’JAN’  or where hiredate +7 =’10-JAN-89’

If two or more columns are frequenty used together in where or join condition then create a composit key.  If no indexes exists in joined columns in an equijoin a sort merge will often result. This means each table is stored separately then the sorted lists are merged.

23. waht is referencial integrity? 

 Referential integrity in a relational database is consistency between coupled tables. Referential integrity is usually enforced by the combination of a primary key or candidate key (alternate key) and a foreign key. For referential integrity to hold, any field in a table that is declared a foreign key can contain only values from a parent table's primary key or a candidate key. 

24. What is the order of precedence of operators?

SQL Operators are evaluated before conditions

	Order
	Operator

	1
	=, !=, <, >, <=, >=, !=, <>, ^=, ~=

	2
	IS [NOT] NULL, LIKE, [NOT] BETWEEN, [NOT] IN, EXISTS, IS OF TYPE

	3
	NOT

	4
	AND

	5
	OR


25. To check whether a table has an index or not?

SELECT table_name
FROM user_tables t
WHERE EXISTS (  SELECT table_name  FROM user_indexes i  WHERE i.table_name = t.table_name);
26.what is the syntax of ALTER command?

ALTER TABLE <Table_name>  [ADD <Column Name data type(Size)] [MODIFY <Column Name datatype(Size)]   [DROP column  <Column Name>]

Note:- (1) You may not change a column containing  nulls from null  to not null

(2) You may not add a new column that is not null.  Make it null, full it completely and then change it to not null

(3) You may not decrease the size of a columns or change its data type , unless it contains no data (especially for numeric data)

(4) You may not use the modify option to define constraints on a column except for not null

27.what is the syntax of DROP command?

DROP TABLE <table_name>  . 

If some dependent table objects exist while dropping tables then the drop command will  give an error.

28.what is the syntax of CREATE command?

Create TABLE <Table_name> (Column1 datatype(size),column2 datatype(size)……)

29.what is the syntax of DELETE command?

Delete FROM <Table_name>  WHERE <Codition>

Deleting rows based on another table

Delete  from emp where deptno=(select deptno from dept where dname=’sales’)

Delete Restricted To A Partition

DELETE FROM <table_name> PARTITION <partition_name>;

DELETE FROM sales PARTITION (q1_2001_invoices);

Delete From A Remote Database

DELETE FROM <table_name>@<database_link>

DELETE FROM t@remote_db;

30.what is the syntax of UPDATE command?

Update <Table-Name>  SET col_name1=value/expression, col_name2=value/expression [WHERE <Codition>]

Updating a table based on another table

Update emp 

set deptno = (select deptno from emp where empno=7698) 

where job =(select job from emp where empno=7788);

Update based on a single queried value

UPDATE <table_name>
SET <column_name> = (   SELECT <column_name>   FROM <table_name   

WHERE <column_name> <condition> <value>) 

WHERE <column_name> <condition> <value>;

Update based on a query returning multiple values

UPDATE <table_name> <alias>
SET (<column_name>,<column_name> ) = ( SELECT (<column_name>, 
                                    <column_name>)FROM <table_name> WHERE 
                                <alias.column_name> = <alias.column_name>)
WHERE <column_name> <condition> <value>;

31.what is the syntax of INSERT command?

Insert Into <Table-name> [col_name1,col_name2…..] values (Value1,value2……)

To insert values based on the other table then

Insert into table   select column names from tablename where condition.

32. How can we know the details of existing constrains?

 Using user_constraints table or user_cons_columns
33. What is a view?
A view is a logical table based on a table or another view. A view contain no data of its own but it is like a window through which  data from tables can be viewed or changed. The view is stored as a query in the data dictionary. user_tables, user_sequences, and user_indexes are all views

Syntax :- CREATE [or REPLACE] [FORCE | NONFORCE]  VIEW  <VIEW_NAME>
[ COLUMN1,COLUMN2, … ] AS SUBQUERY 

[WITH CHECK OPTION CONSTRAINT [CONSTRAINT NAME[

[WITH READ ONLY]

34. What are the advantages of VIEW? 
To protect some of the columns of a table from other users. 
- To hide complexity of a query. 
- To hide complexity of calculations.


Deletion is prohibited if  it contains 
Join condition 

Computed columns in a view definition
Group functions
Group By Clause (group by or compute in a view definition)
Distinct Command
Rownum
 

35. What are the basic types of views?

There are two basic types of views:

Simple views, which contain a subquery that retrieves from one base table

Complex views, which contain a subquery that:

Retrieves from multiple base tables 

Groups rows using a GROUP BY or DISTINCT clause 

Contains a function call

36. Difference between views and materialized views?

VIEWS: Takes the output of a query

MATERIALIZED VIEWS: Stores the output of a  query, Views can't store the results of a query. A materialized view is a table that stores derived data. During its creation, you specify the SQL used to populate the materialized view.

37.What is the difference between DBMS and RDBMS ?

AS a Basic concept Database is two types

     1.DBMS-Database Management Systems

     2.RDBMS-Relational Database Management System

In DBMS the data will be stored in tables. It is not possible to compare one table with another table in 

DBMS. Like MS Access. But in the case RDBMS we can create Data in the form of tables and also it is possible to create relations from one table to another table i.e we can compare one table data  with Another table data 

38. In testing where do we use sql language and how it helps in testing?

We  use sql in Database testing. to see the impact of front end changes are correctly posted on the backend database.

39. What is difference between TRUNCATE & DELETE?

1.truncate removes rows in one execution..delete removes rows one by one so truncate is fast..

2.truncate does not creates logs and hence canot be roll back and hence is a DDL stmt..DELETE creates rollback segment hence can be rolled back and hence is a DML stmt.

3.Truncate doesn’t allow for conditional remove of records (all records has to remove) DELETE allows conditional remove of records(where clause etc can be used.)

4.triggers are not fired on truncate stmt but triggers are fired on DELETE stmt..

40. How do you optimize SQL queries ?

Most often, Databases have bad designs and are not normalized. This can greatly affect the speed of your Database. As a general case, apply the 3 Normal Forms  at all times.

41.what is the difference between implicit conversions and explicit conversions?

In an explicit conversion you tell the database how to do the conversion

  ex: Select * from   some_table t...

  WHERE  t.invoice_date='&&pDate'TO_DATE('&&pDate')

 or with format      TO_DATE('&&pDate','DD-MON-YYYY')

An implicit conversion is done by the database itself

 ex. Select *  from   some_table t...

     WHERE  t.invoice_date='&&pDate'

Oracle will try to convert the pDate into a date.

42. What is the difference between oracle 8i and oracle 9i?

In Oracle 8i we have no concept of partitioned tablespace and nonpartitioned tablespace. Where as in 9i we have this. We cant rename a column in 8i.but in 9i we can do. The data type of large object in oracle 8i is long but in 9i. it is LOB(large objects).

43.What is an index and types of indexes. How many number of indexes can be used per table ?

Index is a method used for faster retrieval of records. 32 Indexes can be used per table.

Different types of indexes are

1.primary key index

2.unique index

3.bitmap index:

 4.hash index

5.function based index

6.B-tree index(default index created) on table.

7.Virtual index(which do not show entry in DBA_segment).

44.How can we know modifications done in stored procedures or functions or packages?

We can easily detect any code changes done in stored procedures , packages, functions  using LAST_DDL_TIME,TIMESTAMP columns in USER_OBJECTS table. 

If you modified any object it will update both LAST_DDL_TIME, TIMESTAMP columns.

If you recompile an object it will update only LAST_DDL_TIME,  timestamp field is not updated.

45.What is a Transaction?

A Transaction is a logical unit of work that comprises one or more SQL statements executed by a single user.
A transaction is a set of operations that begin when the first DML is issued and end when a commit or rollback is issued. BEGIN COMMIT/ROLLBACK are the boundaries of a transaction.
46. What are Pseudo Columns?

 Pseudo columns  behaves like a column in a table but are not actually stored in the table. E.g. Currval, Nextval, Rowid, Rownum, Level etc.

47. What is a Deadlock?

A deadlock  is a unique situation in a multi user system that causes two or more users to wait indefinitely for a locked resource. First user needs a resource locked by the second user and the second user needs a resource locked by the first user. To avoid dead locks, avoid using exclusive table lock and if using, use it in the same sequence and use 

Commit frequently to release locks.

48. What is a lock?

Locking is a facility provided by an RDBMS to ensure that a transaction does not interfere with any other transaction. Locking prevents the problem of lost update, uncommitted data and inconsistent data. An RDBMS provided two types of locks for locking a part of the database - shared locks and exclusive locks.


Shared Locks: 

If a transaction is only reading data from a database, it gets a shared lock on that part of the database. Other transactions can also get a shared lock on that part of the database to read data. However, they cannot change the data.


Exclusive Locks:

 If a transaction is updating data in a database, it gets an exclusive lock on that part of the database. No other transaction can read or change this data. 

49. What is a ROWID?

ROWID is a pseudo column attached to each row of a table. It is 18 characters long, It returns the address of the row. Blockno, rownumber, database file  are the components of ROWID. Oracle Database rowid values contain information necessary to locate a row:
The data object number of the object

The data block in the datafile in which the row resides

The position of the row in the data block (first row is 0)

The datafile in which the row resides (first file is 1). The file number is relative to the tablespace.

Rowid values have several important uses:
They are the fastest way to access a single row.

They can show you how the rows in a table are stored.

They are unique identifiers for rows in a table.

50. What is ON DELETE CASCADE? 
      When ON DELETE CASCADE is specified Oracle maintains referential integrity by automatically removing dependent foreign key values if a referenced primary or unique key value is removed. It is defined on child table.

51.What is the difference between file server and a database server ?
File server just transfers all the data requested by all its client and the client processes the data while a database server runs the query and sends only the query output.

52.What are the two components of ODBC ?
1. An ODBC manager/administrator:- The ODBC Manager manages all the data sources that exists in the system 

2. ODBC driver:- The ODBC Driver allows the developer to talk to the back end database.


53. How can I see what tables I have access to and what tables I own ?

Oracle Data Dictionary provides 3 levels of views user, all and dba views. These views provide information based on your privileges in the database.
User_tables, User_indexes.. etc., provide information about the objects you own.
All_Tables, All_indexes... etc., provide information about the objects you have access to.
Dba_tables, dba_indexes.. etc., provide information about all the objects in the database but are only available to dba's. 

54. What is Normalization ?
Normalization is the process of organizing the tables to remove the redundancy. There are mainly 5 Normalization rules.
a) 1 Normal Form : A table is said to be in 1st Normal Form when the attributes are 
atomic
b) 2 Normal Form : A table is said to be in 2nd Normal Form when all the candidate 
keys are dependant on the primary key
c) 3rd Normal Form : 
55.What is the difference between join and union.
Join is used to established a conditional selection from 2 different tables, while union is used to select similar 

data based on different conditions.

56.what are Dynamic SQL statements?

A SQL statement is dynamic if it is constructed at runtime and then executed.

57. What are roles? How can we implement roles? 

Roles are easiest way to grant and manage common privileges needed by different groups of database users.
Creating roles and assigning privies to roles. Assign each role to group of users. This will simplify the job of assigning privileges to individual users.

58 How long will a variable remain defined in Sql Plus? 

A Variable defined by a user will remain till the end of the session or if the user undefines the variable.
59 Is BOOLEAN a valid datatype in Oracle database? 

BOOLEAN is a valid datatype in PL/SQL and not in oracle database . Cannot create a column in the table with boolean as a datatype.

60. What is concatenation and why is it used? 

Concatenation is meaningful way of joining or merging the output of two columns. It is an two pipe operator '||'or can use the the concat() operation ,passing the two column names.
Ex:
Select f_name ||','|| l_name as Name
from Employee
61. How to rename a column in a table?

Alter table tablename rename column columnname to newname

62. How to drop a column?

      Alter table tablename drop column columnname

63.What are the operators used for multirow queries?

    IN – Checks for any number in the list

   ANY – Compares a value to each value return by a query

   ALL  - Compares a value to every value return by a query.

   EXISTS – Used to check for the existence of values and produces Boolean results.

   SOME -  Compare some value to each value return by a query same as any

64. How can I change my Oracle password?

     Issue the following SQL command: ALTER USER <username> IDENTIFIED BY <new_password>
    / From Oracle8 you can just type "password" from SQL*Plus, or if you need to change another user's password, type   
   "password user_name". 

65. what is the difference between & and && in sql ?
"&" is used to create a temporary substitution variable that will prompt you for a value every time it is referenced. 
"&&" is used to create a permanent substitution variable. Once you have entered a value (defined the variable) its value will used every time the variable is referenced.

66. How to see code in view?

 You can see it from user_views , all_views or dba_views.

67.What does a dual table in oracle do? Where will this table be use at?

when you are using some object which doesn't have any phisical reference to your database tables, i.e. it is not resided in any table, you can refer it to dual table. . Dual table has only one row and one column. It is a small table referenced by ORACLE. the one column which is present in dual table is of type char and of size 1.
68. How will you drop existing user?

Connect sys as sysdba

Drop user username cascade

Ex:- Drop User SSAPLLIVE cascade

69. How will you create a new user?

Create user username Identified by password default tablespace tablespacename

Ex:- Create user username identified by password default tablespace SAGAR_TEST

70. How to know database version?
select banner from sys.v_$version;

71.How to display a value in roman number?

select to_char(12,'RN') from dual;

72. By default if order by is given the null values appear in the end this order can be altered?

The NULLS FIRST|NULLS LAST clause determines the position of NULLs in the ordered sequence. If omitted, the position depends on the ASC, DESC arguments. NULLs are considered to be larger than any other values

select * from emp order by deptno nulls last;

select * from emp order by deptno nulls first;

73. what is the use of NVL2 function?
It lets you substitutes a value when a null value is encountered as well as when a non-null value is encountered.The syntax for the NVL2 function is:
NVL2( string1, value_if_NOT_null, value_if_null )
string1 is the string to test for a null value.
value_if_NOT_null is the value returned if string1 is not null.
value_if_null is the value returned if string1 is null.

74. what is the use of COALESCE function?

COALESCE(expr[,expr]…) Returns the first non-null expr in the expression list

We cane use NVL,NVL2,COALESCE,DECODE,CASE

Using COALESCE: HR@XE> select COALESCE(commission_pct,0)  from employees where commission_pct is null

 and rownum = 1;  Ans:-           0

75. What is the difference between translate and replace function?

In Oracle/PLSQL, the translate function replaces a sequence of characters in a string with another set of characters. However, it replaces a single character at a time. Translate replaces by position, the first character of the list to match is replaced by the first character of the replacement list. The second character with the second, and if there are characters in the list to match that do not have positional equivalents in the replacements list they are dropped.

The syntax for the translate function is:

translate( string1, string_to_replace, replacement_string )

string1 is the string to replace a sequence of characters with another set of characters.

string_to_replace is the string that will be searched for in string1.

replacement_string - All characters in the string_to_replace will be replaced with the corresponding character in the replacement_string.

Replace replaces the string to match with the replacement string. The replacement of a single character is the same as that of TRANSLATE.

76. What is an inline view?
The inline view is a construct in Oracle SQL where you can place a query in the SQL FROM, clause, just as if the query was a table name. 

Ex:- To select a specific interval of rows using inline view:- 

select * from (select rownum cnt from emp where rownum < 25) a     where a.cnt > 20

77. Comments :-

Use Comment command to insert a comment of upto 255 characters about a table or column, insert into the data dictionaries. 

To add a comment on a table call employee

COMMENT ON TABLE EMP IS ‘EMPLOYEE INFORMATION’

To add a comment on a column

COMMENT ON COLUMN EMP.EMPNO IS ‘EMPLOYEE NO SHOULD NOT BE EMPTY’

To remove a comment issue the command without a comment

COMMENT ON COLUMN EMP.EMPNO IS ‘’

To see the comments use one of the following data dictionary views

USER_COL_COMMENTS

ALL_COL_COMMENTS

USER_TAB_COMMENTS

ALL_TAB_COMMENTS
78. COMMIT

In order for changes to become permanent they must be committed to database. The commit command makes database changes permanent. The changes made by the SQL statements of a transaction become visible to other user sessions transactions that start only after transaction is committed.
(1) Makes changes in the current transaction permanent

(2) Erases all the savepoints in the transaction

(3) Ends the transaction permanent

(4) Release the transaction locks

(5) If you do not commit explicitly and the program terminates abnormally the last uncommitted transactions will be rolled back

(6) Implicit commit occurs

   Before  a DDL command. If you enter DDL statement after entering several DML Statements, commit occurs prior to its execution.

After a DDL Command

At normal disconnect from database

79. Save Point

It is used to divide a transaction into small portions.

Syntax:- Savepoint SAVEPoint_name

If you create a second save point with the same name as earlier savepoint , the earlier save point is deleted

The maximum no of savepoints per user process default to 5. This limit can be changed.

80.ROLLBACK

Syntax:- Rollbacl to [savepoint] savepoint name

Rollback statement is used to undo the work

Ends a transaction

Undo all changes in the current transaction

Erases all save points in that transaction

Releases transaction locks

Rollback to a portion of your transaction if you give roll back to a save point.  But you loose all savepoints created after the named save point.

Explicit rollback occurs if abnormal termination occurs. Implicit statement level rollback occurs on statement execution error.

Note:- Set Auto Commit on commits a transaction automatically.

81. Distinct qualifier can only be referenced once must immediately followed by select statement.

82. ROWNUM
Rownum is a pseduocolumn i.e. it behaves like a table column but not actually stored in the table. Rownum  numbers the records in Result set We can limit no of records in the output using this rownum as follows
Ex1:- SELECT * from cmsdivisionmaster where rownum<10

We should not use > operator directly with rownum. The following query  will not return even a single row.
SELECT * FROM employees   WHERE ROWNUM > 1;

This is because the first row fetched is assigned a rownum 1 and makes the codition false. The second row to be fetched is now the first row and is also assigned a ROWNUM of 1 and makes the condition false. All rows subsequently fail to satisfy the condition, so no rows are returned.

Or  Because ROWNUM > 1 is not true for the first row, ROWNUM does not advance to 2. Hence, no ROWNUM value ever gets to be greater than 1.
83. What is Execution Plan?
The combinations of the steps the optimizer chooses to execute a statement is called an execution plan. 

84. What is the function of Optimizer?
 The goal of the optimizer is to choose the most efficient way to execute a SQL statement. 

85. What is a Schema? 

 The set of objects owned by user account is called the schema or A schema is collection of database objects of a User.

86.What is Table? 

 A table is the basic unit of data storage in an ORACLE database. The tables of a database hold all of the user accessible data. Table data is stored in rows and columns.

87.What is default table space? 

 The Table space to contain schema objects created without specifying a table space name.

88.What is Table space Quota? 

 The collective amount of disk space available to the objects in a schema on a particular table space.

PL/SQL

89.What is pl/sql and what is it used for?

PL/SQL is Oracle's Procedural Language extension to SQL. The PL/SQL language includes object oriented programming techniques such as encapsulation, function overloading, information hiding (all but inheritance). PL/SQL is commonly used to write data-centric programs to manipulate data in an Oracle database.  A Pl/sql block should not be more than 32kb.

90.How to trace the errors in pl/sql block code?

User_Errors table OR  show error on sql promt.

EX:- SHOW ERRORS PROCEDURE PROCEDURENAME
91.What are advantages of Stored Procedures?

Stored Procedure's are precompiled one. When ever you call a stored procedure it generate the result faster than ordinary coding. This improves the performance of the application i.e to reduce the time stored procedures are used. 

92.What is Overloading of procedures ?

Overloading procs are 2 or more procs with the same name but different arguments. You can use the same name for different procedures if their formal parameters differ in number, order, or data type family.

93.What is difference between procedure and function?

Function is mainly used in the case where it must return a value. Where as a procedure may or may not   
return a value or may return more than one value using the OUT parameter.
Function can be called from SQL statements where as procedure can not be called from the sql statements

Functions are normally used for computations where as procedures are normally used for executing business logic. 

94. what is difference between stored procedures and application procedures, stored function and application function?

Stored procedures are sub programmers stored in the database and can be called & execute  multiple times where in an application procedure is the one being used for a particular application  same is the way for function.

95. What are the parameter modes in procedures?

   IN       :- Passes value to a procedure.

   OUT   :- Return values to the called procedure.

   IN OUT :-This parameter can pass initial values to a stored procedure and will return updated 
                   values from a stored procedure.

96. when a procedure /package is getting invalidated?
 When creating a package or a trigger you may need other objects. If  underlying objects are deleted without deleting the dependent objects it will become invalid.

97.what is variable in package specification?

   Variables declared in package specification are known as  global variables.

98.A package specification-3 procedures package body-2 procedures will is execute ?

    No. Package body should contain the same number and type of objects as declared in package 
    specification

99. Four procedures are there should I write their in a package?
      We can write any no.of procedures in a package.

100.Difference between cursor and procedure in a package?

    Cursors in package should have a return type Whereas for the procedures it's not required

101.How to get the procedure's, function's name from a package if it is wrapped(both spec & body).?

PAckage Name.ProcedureName(Parameter List)

102. What is a package?

   A package is a collection of related program objects like procedures, functions, cursors and exceptions.  

A Package has two parts

Specification :- This part declares the public types , variables and sub programs that are visible outside the immediate scope of the package.

Syntax:- Create package <package name > is

[ Declaration}

Procedures, Functions

End 

Body :- The body of the package defines the objects declared in the specification, as well as private objects that are not visible to application outside the package.

Syntax:- Create package body <package name> is

[local declaration]

executable statements

end

103. What are the advantages of a package?

  Packages allow application development more efficiently i.e disk I/o operations will be reduced.

  Packages grant privileges more efficiently.

  Package object are modified without recompiling dependent schema objects.

  Packages contain global variables which are available to all procedures and functions.

104.Name the tables where characteristics of Package, procedure and functions are stored ?

user_objects,user_source

105. How can I get the source code for a function or a procedure or a package from the database? 

Query the view ALL_SOURCE. It has a field called TYPE, which says whether the object is a FUNCTION or a PACKAGE or a PACKAGE BODY or a PROCEDURE.The field TEXT gives the actual source code for that object.
Example:
SELECT TEXT FROM ALL_SOURCE WHERE NAME='FUNCTION_NAME'; 

106. What packages (if any) has Oracle provided for use by developers?
Oracle provides the DBMS_ series of packages. There are many which developers should be aware of such as DBMS_SQL, DBMS_PIPE, DBMS_TRANSACTION, DBMS_LOCK, DBMS_ALERT, DBMS_OUTPUT, DBMS_JOB, DBMS_UTILITY, DBMS_DDL, UTL_FILE.

FUNCTIONS

107. Will function return more than one value how?

    Yes. By using Out Parameter we can return more than one value

108.What are the return values of functions SQLCODE and SQLERRM ?

SQLCODE returns the latest code of the error that has occured.

SQLERRM returns the relevant error message of the SQLCODE

EX:- These two are generally used in exceptions.

When oters then

Dbms_output.put_line(SQLCODE||’ , ‘ ||SQLERRM);

109. what is trigger?

Trigger is a named Pl/Sql block associated with a table and executed implicitly by the oracle when the DML operations  are performed against that table.

The general structure of triggers is:

CREATE [OR REPLACE]TRIGGER trigger_name

BEFORE/AFTER

INSERT/UPDATE/DELETE ON tablename

[referencing [old [as] old] [new [as] new]]

[FOR EACH ROW [WHEN (condition)]]

BEGIN

...

END;

Note:- There are two types of DML triggers: statement level and row level. The statement level trigger fires once per transaction, while the row level trigger fires for each record effected, per transactions. In order to use :new or :old, the trigger must be a row level trigger. 

110.What is a mutating and constraining table?

"Mutating" means "changing". A mutating table is a table that is currently being modified by an update, delete, or insert statement. When a trigger tries to reference a table that is in state of flux (being changed), it is considered "mutating" and raises an error since Oracle should not return data that has not yet reached its final state. 
There are several restrictions in Oracle regarding triggers: 

A row-level trigger cannot query or modify a mutating table. (Of course, NEW and OLD still can be accessed by the trigger). 

A statement-level trigger cannot query or modify a mutating table if the trigger is fired as the result of a CASCADE delete. 

Etc.

111.What are the types of triggers ?

Database triggers and Application triggers

112.What is difference between triggers and stored procedures. And advantages of SP over triggers ?

1. Triggers are Table dependent,But Procedures are Not

2. We can not pass Parameters through Triggers,But in case of sp we can pass no.of parameters

3. We can not execute triggers explicitly,but ps we can

4. we can not place transaction processing statments in triggers(commit,collback,save point), but in ps. we can

5. we cannot overload triggers, but we can overload functions & procedures using packages.

113.What is INSTEAD OF trigger ?

Instead of  triggers can not be placed on table while these triggers will be fired only on views. Using these instead of triggers we can perform DML operations on a complex view.In complex views we can not perform DML operations.But using instead of triggers we can insert ,delete,update from complex views.

114.What are the different types of PL/SQL program units that can be defined and stored in ORACLE database ?

Procedure,Functions,Triggers,packages

115.What are two virtual tables available during database trigger execution ?

The table columns are referred as OLD.column_name and  NEW.column_name.

For triggers related to INSERT only NEW.column_name values only available.

For triggers related to UPDATE only OLD.column_name NEW.column_name values only available.

For triggers related to DELETE only OLD.column_name values only available

116. How many types of database triggers can be specified on a table ? What are they ?

There are 2 types of triggers as per the execution goes they are ROW LEVEL and STATEMENT LEVEL TRIGGERS.

The For EACH ROW option determines whether the trigger is a row trigger or a statement trigger. If specify FOR EACH ROW then the trigger fires once for each row of the table that is effected by the trigger statement. If you omit FOR EACH ROW statement then the trigger is called as a statement level trigger and the trigger fires only once for each application statement, but not separately for each row affected by the statement. 

Then as per action triggers can be executed for three  actions as INSERT, UPDATE and DELETE

and trigger can also be executed before the action or after  the action . So with this we can have 12 diffrent triggers

they are: (6 Row level, 6 statement level) 

117. What is a database trigger ? Name some uses of database trigger ?
Database trigger is a  named PL/SQL block in oracle associated with a table and executed implicitly by the oracle when the DML operations  are performed against that table. .The uses of database trigger is to audit data modification , security,applying complex business rules.

118. What is a cursor?

A cursor is a mechanism by which you can assign a name to a "select statement" and manipulate the information within that SQL statement.

Cursor with return clause

The basic syntax for a cursor with a return clause is:

CURSOR cursor_name
RETURN field%ROWTYPE
IS    SELECT_statement;

119. How can you create Cursor with parameters ?

      We can create cursor with parameters using parameterized cursors. We declare the cursor in the 
      deceleration section with parameters. 

Syntax: cursor <cursor_name>(parameters) is <select_stmt>

We pass values to these cursors while opening it.  open c1(100,'Computers');

120.State the difference between implicit and explicit cursor's?

SQL declares a cursor implicitly for all queries and DML statements (including queries that return only one row).The Pl/sql uses implicit cursor  to process INSERT, UPDATE, DELETE, and SELECT INTO statements. The most recent implicit cursor (that is, the cursor for the most recent query ) can be referred to with SQL cursor. During the processing of an implicit cursor, Oracle automatically performs the OPEN,FETCH, and CLOSE operations.

The programmer declares a cursor explicitly to process the result set of query The following are the steps to use an explicit cursor. a. Declare the cursor  --  This means give the cursor a name and associate the query 
b. Open the cursor -- execute the query 
c. Fetch the cursor -- Get the result set and loop through to process them
d. Close the cursor -- Close cursor processing.

121. What is a cursor for loop ? 

In cursor for loop the results of a query are used to dynamically determine the number of times the loop is executed. In a cursor for loop , the opening fetching and closing are performed implicitly.

122.Differentiate between %type and %rowtype attribute in Oracle PL/SQL programming?

%type and %rowtype provides data independence and allows programs to adapt as the database changes due to new business requirements.%rowtype is used to declare a record with the same types as found in the specified database table,view or a cursor.

%type is used to declare a field with the same type as found in the specified table's column.

123.What are cursor attributes?

   %Found   %Isopen  %Notfound %Rowcount

	Attribute
	Explanation

	%ISOPEN
	- Returns TRUE if the cursor is open, FALSE if the cursor is closed.

	%FOUND
	- Returns INVALID_CURSOR if cursor is declared, but not open; or if cursor has been closed. 

- Returns NULL if cursor is open, but fetch has not been executed.

- Returns TRUE if a successful fetch has been executed.

- Returns FALSE if no row was returned.

	%NOTFOUND
	- Returns INVALID_CURSOR if cursor is declared, but not open; or if cursor has been closed. 

- Return NULL if cursor is open, but fetch has not been executed.

- Returns FALSE if a successful fetch has been executed.

- Returns TRUE if no row was returned.

	%ROWCOUNT
	- Returns INVALID_CURSOR if cursor is declared, but not open; or if cursor has been closed. 

- Returns the number of rows fetched.


